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Revision Exercise (Core)

1. A woman invests €1000 each year at 8% per annum, compound interest.
Find the value of her investment after S years.
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2. €300 is invested each month for eight years.
Find the total value of the investment after eight years, assuming a constant
rate of 6% per annum.
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3. A car loan of €20 000 is to be repaid in 25 equal instalments.
If the effective interest rate is 2%, calculate the amount of each instalment, correct
to the nearest euro.
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4. Silvia is planning an overseas trip lasting 3 years and she estimates that she will
need €600 per month for expenses.
How much money does she need to have saved to fund this trip?
Assume an average rate of interest of 4% over the period of the trip.

note: | have interpreted this 4% interest rate to be the 3 year equivalent
rate, the answer given is corrected based on this assumption. The
suggested solution in the book takes the view that the 4% is an AER.
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5. A credit card company offers clients an introductory interest rate on outstanding
balances of 1.25% per month, and a regular rate of 2.5% per month after 1 year.
Find the equivalent interest rates (AER) per annum.
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6. John makes savings of €200 a month for S months at an effective monthly
rate of 0.75%.
Express these savings as a geometric series.
Write down the first term, the common ratio and an expression for the sum of
the five terms.
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7. Use the future value formula to find what €1600 would amount to if invested each
yvear for 5 years at 6 9 p.a. compound interest. —
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8. An annuity involves saving €3000 per year at 7.3% p.a. for 8 yvears.

Use the present value formula to calculate the single amount of money which
could be invested at the same rate and for the same amount of time to give the
same final amount.

(ii) Using the compound interest (future value) formula, find the final amount of
the investment.

(iii) Using the future value annuity formula, check that the annuity gives the same
final amount.
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8. An annuity involves saving €3000 per year at 7.3% p.a. for 8 years.

(i) Use the present value formula to calculate the single amount of money which
could be invested at the same rate and for the same amount of time to give the

same final amount.

Using the compound interest (future value) formula, find the final amount of
the investment.

(iii) Using the future value annuity formula, check that the annuity gives the same
final amount.
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8. An annuity involves saving €3000 per year at 7.3% p.a. for 8 years.

(i) Use the present value formula to calculate the single amount of money which
could be invested at the same rate and for the same amount of time to give the
same final amount.

(ii) Using the compound interest (future value) formula, find the final amount of

the investment.
@ Using the future value annuity formula, check that the annuity gives the same
final amount.
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